HAITCH
Use the numbers 1 to 7, once only so that all three lines have the same total.





How many different possibilities are there?




Prove that 6 and 7 cannot be in the same line.





Prove that the centre of the H must be even.

IT ADDS UP




Use the numbers 1 to 5, once only





The row of 3 must add up to the column of 3





Prove that the centre number must be odd





How many different solutions are there?

EQUALIZING




Use the numbers 1 to 6 once only





Line totals must be equal





Establish that there are only 4 solutions





Prove that the numbers 1 and 6 must be together





CROSS CUT




Use the numbers 1 to 6, once only





The row of 3 must add up to the column of 4





Prove that the centre number must be odd





How many different solutions are there?

DEDUCT & DEDUCE





Use the numbers 1 to 6 once only.

Each circle is the positive difference between the two circles below it.


Prove that there are only four different ways of doing this if reflections are not counted.

Source: Median (Don Steward) appeared in Mathematics in School (May 1995)


